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QUESTION 1

Which technology enables customers to virtualize WAN optimization resources by pooling them into one elastic
resource? 

A. Cisco Prime 

B. Akamai 

C. Cisco AppNav 

D. virtualization 

Correct Answer: C 

 

QUESTION 2

The lean branch office relies on the WAN to provide a majority of its application services. However, essential
infrastructure services can be hosted locally. What is one example of an infrastructure service for a hospital or medical
office? 

A. YouTube 

B. record archiving system 

C. remote administration 

D. electronic medical records 

Correct Answer: D 

 

QUESTION 3

Which route is needed in the global table for internal users to access the Internet? 

A. route to the service provider 

B. route to the internal DNS server 

C. default route 

D. static route to Internet web sites 

Correct Answer: C 

 

QUESTION 4

What should you do to increase availability and provide a separate failure domain? 
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A. Use the same MTU on all WAN paths. 

B. Request a no-failure connection from your service provider. 

C. Use a separate provider for each DMVPN network. 

D. Use RIP as the routing protocol for all WAN paths. 

Correct Answer: C 

 

QUESTION 5

What is one example of a typical enterprise WAN deployment model? 

A. single or dual MPLS VPN 

B. Frame Relay 

C. VPN 

D. hub and spoke 

Correct Answer: A 
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